

Integral inequalities of Hermite-Hadamard type for extended (s, m) -GA- ε -convex functions

Hong-Ping Yin

*College of Mathematics and Physics
Inner Mongolia University for Nationalities
Tongliao 028043, Inner Mongolia
China
hongpingyin@qq.com*

Jing-Yu Wang

*College of Mathematics and Physics
Inner Mongolia University for Nationalities
Tongliao 028043, Inner Mongolia
China
wangjingyu4@163.com*

Bai-Ni Guo*

*School of Mathematics and Informatics
Henan Polytechnic University
Jiaozuo 454010, Henan
China
bai.ni.guo@gmail.com*

Abstract. In the paper, by introducing the concept of (s, m) -GA- ε -functions and using Hölder’s integral inequality, the authors develop several new integral inequalities of the Hermite-Hadamard type for extended (s, m) - ε -GA-convex functions.

Keywords: Hermite-Hadamard’s integral inequality, convex function, extended (s, m) - ε -GA-convex function.

1. Introduction

Throughout this paper, we use the following notations:

$$\mathbb{R} = (-\infty, \infty), \quad \mathbb{R}_0 = [0, \infty), \quad \text{and} \quad \mathbb{R}_+ = (0, \infty).$$

Let us recall and review some concepts of convex functions.

Definition 1.1 ([13]). *A function $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is called to be convex on an interval I if*

$$f(\lambda x + (1 - \lambda)y) \leq \lambda f(x) + (1 - \lambda)f(y)$$

for all $x, y \in I$ and $\lambda \in [0, 1]$.

*. Corresponding author

Definition 1.2 ([2]). For some $s \in (0, 1]$, a function $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is called to be s -convex in the second sense on an interval I if

$$(1.1) \quad f(\lambda x + (1 - \lambda)y) \leq \lambda^s f(x) + (1 - \lambda)^s f(y)$$

for all $x, y \in I$ and $\lambda \in [0, 1]$.

Definition 1.3 ([23]). For some $s \in [-1, 1]$, a function $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is called to be extended s -convex on a interval I if the inequality (1.1) holds for all $x, y \in I$ and $\lambda \in (0, 1)$.

Definition 1.4 ([19]). For some $m \in (0, 1]$, a function $f : [0, b] \rightarrow \mathbb{R}$ is called to be m -convex on $[0, b]$ if

$$f(\lambda x + m(1 - \lambda)y) \leq \lambda f(x) + m(1 - \lambda)f(y)$$

for all $x, y \in [0, b]$ and $\lambda \in [0, 1]$.

Definition 1.5 ([5, 15]). For some $(s, m) \in (0, 1] \times (0, 1]$, a function $f : [0, b] \rightarrow \mathbb{R}$ is called to be (s, m) -convex on $[0, b]$ if

$$(1.2) \quad f(\lambda x + m(1 - \lambda)y) \leq \lambda^s f(x) + m(1 - \lambda)^s f(y)$$

for all $x, y \in [0, b]$ and $\lambda \in [0, 1]$.

Definition 1.6 ([27]). For some $(s, m) \in [-1, 1] \times (0, 1]$, a function $f : [0, b] \rightarrow \mathbb{R}$ is called to be extended (s, m) -convex on $[0, b]$ if the inequality (1.2) is valid for all $x, y \in [0, b]$ and $\lambda \in (0, 1)$.

Definition 1.7 ([14]). A function $f : I \subseteq \mathbb{R}_+ \rightarrow \mathbb{R}$ is called to be geometrically-arithmetically-convex (or say, GA-convex) on I if

$$f(x^\lambda y^{1-\lambda}) \leq \lambda f(x) + (1 - \lambda)f(y)$$

for all $x, y \in I$ and $\lambda \in [0, 1]$.

Definition 1.8 ([16]). For $\varepsilon \geq 0$, a function $f : I \subseteq \mathbb{R}_+ \rightarrow \mathbb{R}$ is called to be ε -GA-convex on I if

$$f(x^\lambda y^{1-\lambda}) \leq \lambda f(x) + (1 - \lambda)f(y) + \varepsilon$$

for all $x, y \in I$ and $\lambda \in [0, 1]$.

Definition 1.9 ([11, 12]). For some $(s, m) \in [-1, 1] \times (0, 1]$, a function $f : (0, b] \rightarrow \mathbb{R}$ is called to be extended (s, m) -GA-convex on $(0, b]$ if

$$f(x^\lambda y^{m(1-\lambda)}) \leq \lambda^s f(x) + m(1 - \lambda)^s f(y)$$

for all $x, y \in (0, b]$ and $\lambda \in (0, 1)$.

The well-known integral Hermite-Hadamard inequality for convex functions reads that, if f is a convex function on $[a, b]$, then

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x) \, dx \leq \frac{f(a)+f(b)}{2}.$$

In recent decades, plenty of integral inequalities of the Hermite-Hadamard type for various kinds of convex functions have been established in, for example, [1, 3, 4, 6, 7, 8, 17, 20, 22, 25, 26]. In particular, some integral inequalities of the Hermite-Hadamard type for geometrically convex functions and for s -GA-convex functions were studied in [9, 10, 18, 21, 24, 28].

2. A new definition and two lemmas

Now we extend Definition 1.9 by introducing the definition of extended (s, m) - ε -GA-convex functions.

Definition 2.1. For some $(s, m) \in [-1, 1] \times (0, 1]$ and $\varepsilon \geq 0$, a function $f : (0, b] \rightarrow \mathbb{R}_0$ is called to be extended (s, m) - ε -GA-convex on $(0, b]$ if

$$f(x^\lambda y^{m(1-\lambda)}) \leq \lambda^s f(x) + m(1-\lambda)^s f(y) + \varepsilon$$

for all $x, y \in (0, b]$ and $\lambda \in (0, 1)$.

It is clear that, when $\varepsilon = 0$ in Definition 2.1, one will derive Definition 1.9. In order to prove our main results, we need the following lemmas.

Lemma 1. Let $f : I \subseteq \mathbb{R}_+ \rightarrow \mathbb{R}$ be differentiable on the interior I° and $a, b \in I$ with $a < b$. If $f' \in L_1([a, b])$ and $\lambda \in (0, 1)$, then

$$\begin{aligned} & f(a^{1-\lambda}b^\lambda) - \frac{1}{\ln b - \ln a} \int_a^b \frac{f(x)}{x} \, dx \\ &= (\ln b - \ln a) \left[\int_0^\lambda t a^{1-t} b^t f'(a^{1-t}b^t) \, dt - \int_\lambda^1 (1-t) a^{1-t} b^t f'(a^{1-t}b^t) \, dt \right]. \end{aligned}$$

Proof. Integrating by part and changing variables of integration yield

$$\begin{aligned} & (\ln b - \ln a) \left[\int_0^\lambda t a^{1-t} b^t f'(a^{1-t}b^t) \, dt - \int_\lambda^1 (1-t) a^{1-t} b^t f'(a^{1-t}b^t) \, dt \right] \\ &= \int_0^\lambda t f'(a^{1-t}b^t) \, d(a^{1-t}b^t) - \int_\lambda^1 (1-t) f'(a^{1-t}b^t) \, d(a^{1-t}b^t) \\ &= \lambda f(a^{1-\lambda}b^\lambda) + (1-\lambda) f(a^{1-\lambda}b^\lambda) - \int_0^1 f(a^{1-t}b^t) \, dt \\ &= f(a^{1-\lambda}b^\lambda) - \frac{1}{\ln b - \ln a} \int_a^b \frac{f(x)}{x} \, dx. \end{aligned}$$

This completes the proof of Lemma 1. □

Lemma 2. *Let $x, y > 0$, $\lambda \in (0, 1)$, and $s \in [-1, 1]$. Then*

$$F(x, y; \lambda) = \int_0^\lambda tx^t y^{1-t} dt = \begin{cases} \frac{\lambda y^{1-\lambda} [L(x^\lambda, y^\lambda) - x^\lambda]}{\ln y - \ln x}, & x \neq y; \\ \frac{\lambda^2 x}{2}, & x = y, \end{cases}$$

$$G(x, y; \lambda, s) = \int_0^\lambda t[tx + (1-t)y]t^s dt = \frac{(s+2)\lambda x + (s+3 - (s+2)\lambda)y}{(s+2)(s+3)} \lambda^{s+2},$$

and

$$H(x, y; \lambda, s) = \int_0^\lambda t[tx + (1-t)y](1-t)^s dt = \begin{cases} \frac{2x + (s+1)y - [(1-\lambda)(s+1)(1+2\lambda+\lambda s)y + (2+\lambda(s+1)(2+2\lambda+\lambda s)x)](1-\lambda)^{s+1}}{(s+1)(s+2)(s+3)}, & -1 < s \leq 1; \\ \frac{\lambda^2(y-x) - 2(\ln(1-\lambda) + \lambda)x}{2}, & s = -1, \end{cases}$$

where the logarithmic mean $L(x, y)$ is defined as

$$L(x, y) = \begin{cases} \frac{y-x}{\ln y - \ln x}, & x \neq y; \\ x, & x = y. \end{cases}$$

3. Main results

We are now in a position to establish some integral inequalities of the Hermite-Hadamard type for functions of the extended (s, m) - ε -GA-convexity.

Theorem 1. *Let $(s, m) \in [-1, 1] \times (0, 1]$ and $\lambda \in (0, 1)$ and let $f : (0, b^*] \rightarrow \mathbb{R}$ be a differentiable mapping on $(0, b^*]$, where $a, b \in (0, b^*]$, $a < b$, $b^{1/m} \leq b^*$, and $f' \in L_1([a, b])$. If $|f'|^q$ is extended (s, m) - ε -GA-convex on $(0, \max\{b^{1/m}, b\}]$ for $q \geq 1$, then*

$$\begin{aligned} & \left| f(a^\lambda b^{1-\lambda}) - \frac{1}{\ln b - \ln a} \int_a^b \frac{f(x)}{x} dx \right| \\ & \leq \frac{\ln b - \ln a}{6^{1/q}} [F^{1-1/q}(a, b; \lambda) (6G(a, b; \lambda, s) |f'(a)|^q \\ (3.1) & + 6mH(a, b; \lambda, s) |f'(b^{1/m})|^q + \varepsilon \lambda^2 [2\lambda a + (3 - 2\lambda)b]^{1/q} \\ & + F^{1-1/q}(b, a; 1 - \lambda, s) (6H(b, a; 1 - \lambda, s) |f'(a)|^q \\ & + 6mG(b, a; 1 - \lambda, s) |f'(b^{1/m})|^q + \varepsilon (1 - \lambda)^2 [(1 + 2\lambda)a + 2(1 - \lambda)b]^{1/q}], \end{aligned}$$

where $F(a, b; \lambda)$, $G(a, b; \lambda, s)$, and $H(a, b; \lambda, s)$ are defined as in Lemma 2.

Proof. By Lemma 1 and Hölder’s integral inequality, we have

$$\begin{aligned}
 & \left| f(a^\lambda b^{1-\lambda}) - \frac{1}{\ln b - \ln a} \int_a^b \frac{f(x)}{x} dx \right| \\
 & \leq (\ln b - \ln a) \left[\int_0^\lambda ta^tb^{1-t} |f'(a^tb^{1-t})| dt + \int_\lambda^1 (1-t)a^tb^{1-t} |f'(a^tb^{1-t})| dt \right] \\
 (3.2) \quad & \leq (\ln b - \ln a) \left[\left(\int_0^\lambda ta^tb^{1-t} dt \right)^{1-1/q} \left(\int_0^\lambda ta^tb^{1-t} |f'(a^tb^{1-t})|^q dt \right)^{1/q} \right. \\
 & \left. + \left(\int_\lambda^1 (1-t)a^tb^{1-t} dt \right)^{1-1/q} \left(\int_\lambda^1 (1-t)a^tb^{1-t} |f'(a^tb^{1-t})|^q dt \right)^{1/q} \right].
 \end{aligned}$$

By Lemma 2, we can obtain

$$(3.3) \quad \int_0^\lambda (1-t)a^tb^{1-t} dt = F(a, b; \lambda, s)$$

and

$$(3.4) \quad \int_\lambda^1 (1-t)a^tb^{1-t} dt = F(a, b; 1 - \lambda, s).$$

Using the extended (s, m) - ε -GA-convexity of $|f'|^q$, the geometric-arithmetic mean inequality, and Lemma 2 gives

$$\begin{aligned}
 & \int_0^\lambda ta^tb^{1-t} |f'(a^tb^{1-t})|^q dt \\
 (3.5) \quad & \leq \int_0^\lambda t[ta + (1-t)b] [t^s |f'(a)|^q + m(1-t)^s |f'(b^{1/m})|^q + \varepsilon] dt \\
 & = G(a, b; \lambda, s) |f'(a)|^q + mH(a, b; \lambda, s) |f'(b^{1/m})|^q + \frac{1}{6} \varepsilon \lambda^2 [2\lambda a + (3-2\lambda)b]
 \end{aligned}$$

and

$$\begin{aligned}
 & \int_\lambda^1 (1-t)a^tb^{1-t} |f'(a^tb^{1-t})|^q dt \leq \int_\lambda^1 (1-t)[ta + (1-t)b] [t^s |f'(a)|^q \\
 (3.6) \quad & + m(1-t)^s |f'(b^{1/m})|^q + \varepsilon] dt = H(b, a; 1 - \lambda, s) |f'(a)|^q \\
 & + mG(b, a; 1 - \lambda, s) |f'(b^{1/m})|^q + \frac{\varepsilon(1-\lambda)^2 [(1+2\lambda)a + 2(1-\lambda)b]}{6}.
 \end{aligned}$$

Substituting inequalities (3.3), (3.4), (3.5), and (3.6) into the inequality (3.2) results in the inequality (3.1). The proof of Theorem 1 is complete. \square

Corollary 1. *Under conditions of Theorem 1, if $s = -1$, we have*

$$\begin{aligned} & \left| f(a^\lambda b^{1-\lambda}) - \frac{1}{\ln b - \ln a} \int_a^b \frac{f(x)}{x} dx \right| \\ & \leq \frac{\ln b - \ln a}{6^{1/q}} [F^{1-1/q}(a, b; \lambda, -1)(3(\lambda^2(a - b) + 2\lambda b)|f'(a)|^q \\ & + 3m[\lambda^2(b - a) - 2a(\ln(1 - \lambda) + \lambda)]|f'(b^{1/m})|^q + \varepsilon\lambda^2[2\lambda a + (3 - 2\lambda)b])^{1/q} \\ & + F^{1-1/q}(b, a; 1 - \lambda, -1)(3[(1 - \lambda)^2(a - b) - 2b(1 - \lambda + \ln \lambda)]|f'(a)|^q \\ & + 3m[(b - a)(1 - \lambda)^2 + 2a(1 - \lambda)]|f'(b^{1/m})|^q \\ & + \varepsilon(1 - \lambda)^2[(1 + 2\lambda)a + 2(1 - \lambda)b])^{1/q}]. \end{aligned}$$

Theorem 2. *Let $(s, m) \in [-1, 1] \times (0, 1]$ and $\lambda \in (0, 1)$ and let $f : (0, b^*] \rightarrow \mathbb{R}$ be a differentiable mapping on $(0, b^*]$, where $a, b \in (0, b^*]$, $a < b$, $b^{1/m} \leq b^*$, and $f' \in L_1([a, b])$. If $|f'|^q$ is extended (s, m) - ε -GA-convex on $(0, \max\{b^{1/m}, b\}]$ for $q > 1$, then*

$$\begin{aligned} & \left| f(a^\lambda b^{1-\lambda}) - \frac{1}{\ln b - \ln a} \int_a^b \frac{f(x)}{x} dx \right| \leq \frac{\ln b - \ln a}{6^{1/q}} \left[F^{1-1/q}(a, b; \lambda) \right. \\ (3.7) \quad & \times \left(\frac{\lambda^{s+2}}{s+2} |f'(a)|^q + mT(\lambda, s) |f'(b^{1/m})|^q + \frac{1}{2} \varepsilon \lambda^2 \right)^{1/q} + F^{1-1/q}(b, a; \\ & \left. 1 - \lambda, s) T(1 - \lambda, s) |f'(a)|^q + \frac{m(1 - \lambda)^{s+2}}{s+2} |f'(b^{1/m})|^q + \frac{\varepsilon(1 - \lambda)^2}{2} \right], \end{aligned}$$

where

$$T(\lambda, s) = \int_0^\lambda t(1-t)^s dt = \begin{cases} \frac{1 - (1 - \lambda)^{s+1}(1 + \lambda + \lambda s)}{(s + 1)(s + 2)}, & -1 < s \leq 1; \\ -\lambda - \ln(1 - \lambda), & s = -1. \end{cases}$$

Proof. By Lemma 1 and Hölder’s integral inequality, we have

$$\begin{aligned} & \left| f(a^\lambda b^{1-\lambda}) - \frac{1}{\ln b - \ln a} \int_a^b \frac{f(x)}{x} dx \right| \\ & \leq (\ln b - \ln a) \left[\int_0^\lambda t a^t b^{1-t} |f'(a^t b^{1-t})| dt + \int_\lambda^1 (1 - t) a^t b^{1-t} |f'(a^t b^{1-t})| dt \right] \\ (3.8) \quad & \leq (\ln b - \ln a) \left[\left(\int_0^\lambda t (a^t b^{1-t})^{q/(q-1)} dt \right)^{1-1/q} \left(\int_0^\lambda t |f'(a^t b^{1-t})|^q dt \right)^{1/q} \right. \\ & \left. + \left(\int_\lambda^1 (1 - t) (a^t b^{1-t})^{q/(q-1)} dt \right)^{1-1/q} \left(\int_\lambda^1 (1 - t) |f'(a^t b^{1-t})|^q dt \right)^{1/q} \right]. \end{aligned}$$

By Lemma 2, we obtain

$$(3.9) \quad \int_0^\lambda t (a^t b^{1-t})^{q/(q-1)} dt = F(a^{q/(q-1)}, b^{q/(q-1)}; \lambda, s)$$

and

$$(3.10) \quad \int_{\lambda}^1 (1-t)(a^t b^{1-t})^{q/(q-1)} dt = F(b^{q/(q-1)}, a^{q/(q-1)}; 1-\lambda, s).$$

From the extended (s, m) - ε -GA-convexity of $|f'|^q$, we have

$$(3.11) \quad \int_0^{\lambda} t a^t b^{1-t} |f'(a^t b^{1-t})|^q dt \leq \int_0^{\lambda} t [t^s |f'(a)|^q + m(1-t)^s |f'(b^{1/m})|^q + \varepsilon] dt = \frac{\lambda^{s+2}}{s+2} |f'(a)|^q + mT(\lambda, s) |f'(b^{1/m})|^q + \frac{1}{2} \varepsilon \lambda^2$$

and

$$(3.12) \quad \int_{\lambda}^1 (1-t) |f'(a^t b^{1-t})|^q dt \leq \int_{\lambda}^1 (1-t) [t^s |f'(a)|^q + m(1-t)^s |f'(b^{1/m})|^q + \varepsilon] dt = T(1-\lambda) |f'(a)|^q + \frac{m(1-\lambda)^{s+2}}{s+2} |f'(b^{1/m})|^q + \frac{1}{2} \varepsilon (1-\lambda)^2.$$

Substituting (3.9), (3.10), (3.11), and (3.12) into the inequality (3.8) leads to (3.7). The proof of Theorem 2 is complete. \square

Theorem 3. Let $(s, m) \in [-1, 1] \times (0, 1]$ and $\lambda \in (0, 1)$ and let $f : (0, b^*] \rightarrow \mathbb{R}$ be a differentiable mapping on $(0, b^*]$, where $a, b \in (0, b^*]$, $a < b$, $b^{1/m} \leq b^*$, and $f' \in L_1([a, b])$. If $|f'|^q$ is extended (s, m) - ε -GA-convex on $(0, \max\{b^{1/m}, b\}]$ for $q > 1$, then

$$(3.13) \quad \left| f(a^{\lambda} b^{1-\lambda}) - \frac{1}{\ln b - \ln a} \int_a^b \frac{f(x)}{x} dx \right| \leq \frac{\ln b - \ln a}{6^{1/q}} \left[(\lambda L(a^{\lambda q/(q-1)}, b^{\lambda q/(q-1)}) b^{(1-\lambda)q/(q-1)})^{1-1/q} \times \left(\frac{\lambda^{q+s+1}}{q+s+1} |f'(a)|^q + mB(\lambda, q+1, s+1) |f'(b^{1/m})|^q + \frac{1}{q+1} \varepsilon \lambda^{q+1} \right)^{1/q} + ((1-\lambda) a^{\lambda q/(q-1)} L(a^{(1-\lambda)q/(q-1)}, b^{(1-\lambda)q/(q-1)}))^{1-1/q} \left(B(1-\lambda, q+1, s+1) |f'(a)|^q + \frac{m(1-\lambda)^{q+s+1}}{q+s+1} |f'(b^{1/m})|^q + \frac{\varepsilon(1-\lambda)^{q+1}}{q+1} \right)^{1/q} \right],$$

where $B(\lambda, \alpha, \beta)$ is incomplete Beta function defined by

$$B(\lambda, \alpha, \beta) = \frac{\Gamma(\alpha + \beta)}{\Gamma(\alpha)\Gamma(\beta)} \int_0^{\lambda} t^{\alpha-1} (1-t)^{\beta-1} dt, \quad \alpha, \beta > 0.$$

Proof. By Lemma 1 and Hölder’s integral inequality, we have

$$\begin{aligned}
 & \left| f(a^\lambda b^{1-\lambda}) - \frac{1}{\ln b - \ln a} \int_a^b \frac{f(x)}{x} dx \right| \\
 & \leq (\ln b - \ln a) \left[\int_0^\lambda t a^t b^{1-t} |f'(a^t b^{1-t})| dt + \int_\lambda^1 (1-t) a^t b^{1-t} |f'(a^t b^{1-t})| dt \right] \\
 (3.14) \quad & \leq (\ln b - \ln a) \left[\left(\int_0^\lambda (a^t b^{1-t})^{q/(q-1)} dt \right)^{1-1/q} \left(\int_0^\lambda t^q |f'(a^t b^{1-t})|^q dt \right)^{1/q} \right. \\
 & \left. + \left(\int_\lambda^1 (a^t b^{1-t})^{q/(q-1)} dt \right)^{1-1/q} \left(\int_\lambda^1 (1-t)^q |f'(a^t b^{1-t})|^q dt \right)^{1/q} \right],
 \end{aligned}$$

where

$$(3.15) \quad \int_0^\lambda (a^t b^{1-t})^{q/(q-1)} dt = \lambda b^{(1-\lambda)q/(q-1)} L(a^{\lambda q/(q-1)}, b^{\lambda q/(q-1)})$$

and

$$(3.16) \quad \int_\lambda^1 (a^t b^{1-t})^{q/(q-1)} dt = (1 - \lambda) a^{\lambda q/(q-1)} L(a^{(1-\lambda)q/(q-1)}, b^{(1-\lambda)q/(q-1)}).$$

From the extended (s, m) - ε -GA-convexity of $|f'|^q$, we have

$$\begin{aligned}
 (3.17) \quad & \int_0^\lambda t^q |f'(a^t b^{1-t})|^q dt \leq \int_0^\lambda t^q \left[t^s |f'(a)|^{q+m} (1-t)^s |f'(b^{1/m})|^q + \varepsilon \right] dt \\
 & = \frac{\lambda^{q+s+1}}{q+s+1} |f'(a)|^q + m B(\lambda, q+1, s+1) |f'(b^{1/m})|^q + \frac{1}{q+1} \varepsilon \lambda^{q+1}.
 \end{aligned}$$

and

$$\begin{aligned}
 & \int_\lambda^1 (1-t)^q |f'(a^t b^{1-t})|^q dt \leq \int_\lambda^1 (1-t)^q \left[t^s |f'(a)|^q \right. \\
 & \left. + m(1-t)^s |f'(b^{1/m})|^q + \varepsilon \right] dt \\
 (3.18) \quad & = B(1-\lambda, q+1, s+1) |f'(a)|^q \\
 & + \frac{m(1-\lambda)^{q+s+1}}{q+s+1} |f'(b^{1/m})|^q + \frac{1}{q+1} \varepsilon (1-\lambda)^{q+1}.
 \end{aligned}$$

Substituting (3.15), (3.16), (3.17), and (3.18) into the inequality (3.14) derives the inequality (3.13). The proof of Theorem 3 is complete. \square

Acknowledgements

This work was partially supported by the Foundation of the Research Program of Science and Technology at Universities of Inner Mongolia Autonomous

Region under Grant No. NJZY20119 and No. NJZZ18154, by the Science Research Fund of Inner Mongolia University for Nationalities under Grant No. NMDYB19056 and No. NMDYB1777, and by the Research Topic of Education and Teaching of Inner Mongolia University for Nationalities under Grant No. YB2019015 and No. YB2019016, China.

References

- [1] M. W. Alomari, M. Darus, and S. S. Dragomir, *New inequalities of Simpson's type for s -convex functions with applications*, ResearchGate Article (2009), available online at <https://www.researchgate.net/publication/267389085>.
- [2] W. W. Breckner, *Stetigkeitsaussagen für eine Klasse verallgemeinerter konvexer Funktionen in topologischen linearen Räumen*, Publ. Inst. Math. (Beograd) (N.S.), 23 (1978), 13-20.
- [3] S. S. Dragomir and R. P. Agarwal, *Two inequalities for differentiable mappings and applications to special means of real numbers and to trapezoidal formula*, Appl. Math. Lett., 11 (1998), 91-95.
- [4] S. S. Dragomir, R. P. Agarwal, and P. Cerone, *On Simpson's inequality and applications*, J. Inequal. Appl., 5 (2000), 533-579.
- [5] N. Eftekhari, *Some remark on (s, m) -convexity in the second sense*, J. Math. Inequal., 8 (2014), 489-495.
- [6] A. G. Ghazanfari, M. Shakoori, A. Barani, and S. S. Dragomir, *Hermite-Hadamard type inequality for operator preinvex functions*, arXiv preprint (2013), available online at <http://arxiv.org/abs/1306.0730>.
- [7] J. Hua, B.-Y. Xi, and F. Qi, *Hermite-Hadamard type inequalities for geometric-arithmetically s -convex functions*, Commun. Korean Math. Soc., 29 (2014), 51-63.
- [8] H. Hudzik and L. Maligranda, *Some remarks on s -convex functions*, Aequationes Math., 48 (1994), 100-111.
- [9] İ. İşcan, *On some new Hermite-Hadamard type inequalities for s -geometrically convex functions*, Int. J. Math. Math. Sci., 2014, Art. ID 163901, 8 pages.
- [10] İ. İşcan, *Some new Hermite-Hadamard type inequalities for s -geometrically convex functions and their applications*, Contemp. Anal. Appl. Math., 2 (2014), 230-241.

- [11] Y.-J. Li and T.-S. Du, *On Simpson type inequalities for functions whose derivatives are extended (s, m) -GA-convex functions*, Pure Appl. Math., 31 (2015), 487-497. (Chinese)
- [12] Y.-J. Li and T.-S. Du, *Some Simpson type integral inequalities for functions whose third derivatives are (α, m) -GA-convex functions*. J. Egyptian Math. Soc., 24 (2016), 175-180.
- [13] D. S. Mitrinović and I. B. Lacković, *Hermite and convexity*, Aequationes Math., 28 (1985), 229-232.
- [14] J. Park, *New Hermite-Hadamard-like type inequalities for twice differentiable (α, m) -GA-convex functions*, Int. J. Math. Anal. (Ruse), 7 (2013), 2503-2515.
- [15] J. Park, *Some Hadamard's type inequalities for co-ordinated (s, m) -convex mappings in the second sense*, Far East J. Math. Sci., (FJMS), 51 (2011), 205-216.
- [16] F. Qi and B.-Y. Xi, *Some integral inequalities of Simpson type for GA- ε -convex functions*, Georgian Math. J., 20 (2013), 775-788.
- [17] M. Z. Sarikaya, E. Set, and M. E. Özdemir, *On new inequalities of Simpson's type for s -convex functions*, Comput. Math. Appl., 60 (2010), 2191-2199.
- [18] Y. Shuang and F. Qi, *Integral inequalities of Hermite-Hadamard type for extended s -convex functions and applications*, Mathematics, 6 (2018), Article 223, 12 pages.
- [19] G. Toader, *Some generalizations of the convexity*, Proc. Colloq. Approx. Optim., Univ. Cluj-Napoca, Cluj-Napoca, 1985, 329-338.
- [20] N. Ujević, *Double integral inequalities of Simpson type and applications*, J. Appl. Math. Comput., 14 (2004), 213-223.
- [21] Bo-Yan Xi, Shu-Ping Bai, and Feng Qi, *On integral inequalities of the Hermite-Hadamard type for co-ordinated (α, m_1) - (s, m_2) -convex functions*, Journal of Interdisciplinary Mathematics, 21 (2018), 1505-1518.
- [22] B.-Y. Xi, J. Hua, and F. Qi, *Hermite-Hadamard type inequalities for extended s -convex functions on the co-ordinates in a rectangle*, J. Appl. Anal., 20 (2014), 29-39.
- [23] B.-Y. Xi and F. Qi, *Inequalities of Hermite-Hadamard type for extended s -convex functions and applications to means*, J. Nonlinear Convex Anal., 16 (2015), 873-890.

- [24] B.-Y. Xi and F. Qi, *Integral inequalities of Simpson type for logarithmically convex functions*, Adv. Stud. Contemp. Math. (Kyungshang), 23 (2013), 559-566.
- [25] B.-Y. Xi and F. Qi, *Some integral inequalities of Hermite-Hadamard type for convex functions with applications to means*, J. Funct. Spaces Appl., 2012 (2012), Article ID 980438, 14 pages.
- [26] B.-Y. Xi and F. Qi, *Some integral inequalities of Hermite-Hadamard type for s -logarithmically convex functions*, Acta Math. Sci. Ser. A Chin. Ed., 35 (2015), no. 3, 515-524. (Chinese)
- [27] B.-Y. Xi, Y. Wang, and F. Qi, *Some integral inequalities of Hermite-Hadamard type for extended (s, m) -convex functions*, Transylv. J. Math. Mechanics, 5 (2013), 69-84.
- [28] H.-P. Yin, J.-Y. Wang, and F. Qi, *Some integral inequalities of Hermite-Hadamard type for s -geometrically convex functions*, Miskolc Math. Notes, 19 (2018), 699-705.

Accepted: 25.10.2019